g 8 A A

Sl AR =8 (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz

S EPS IS 4,909,323 4,694,714 214,609

= 6,856 14,550 NT,6%4

< 271,857 274,165 72,308

= 4,630,610 4,405,999 224,611

zd 23 N 2,412,361 2,585,957 A173,5%

& 48,600 48,600 0

[ 2,363,761 2,537,357 A173,5%6

TEAH FH 468,000 545,820 NT7,820

INuFE 24 135,000 170,500 135,500

201 ZBt=3hl 5,000 5,500 AB500

01 AtR2te|HI 0 500 A500

O=Mus 2 237 & 2d7t= MH

S 0 500 A500

202 04t 125,000 145,000 20,000

04 =KlI=todbl 125,000 145,000 20,000

O=HTAIZR & ZH=ER =& 125,000 145,000 20,000

301 LetE2AZ 5,000 20,000 15,000

08 212+o1=2] 01| 5,000 10,000 5,000

O=MuF S =& 22HI=2/04| 5,000 10,000 5,000

09 QB =FH 0 0 10,000 10,000

O=NsuUFESRN 2 FF 3| 0 10,000 10,000

AoHZES & nIAY =2 0 2,500 A2,500

201 2Bt ] 0 500 2500

01 AlR2teldl 0 500 A500

OXNHZEH WF 2d A28 28 S 0 500 500

301 LetENZ 0 2,000 22,000

09 B =FH N 0 2,000 2,000

OXHZHEAl 2EI=FZH| 0 2,000 2,000

2Z2E AHA FH 162,576 186,000 N33,424

202 04l 162,576 186,000 N33,424

04 =H=Hodl 162,576 186,000 N33,424

O=22 AFAs =4 162,576 186,000 N33,424

AIAIBQIBI ZLIATHE] R AN 13,604 20,000 16,3%

201 etz ] 13,604 20,000 N6,3%

03 Ar=2EHI 13,604 20,000 NB,3%

ONIAEIHIZLIAG B2 2A 29 13,604 20,000 N6,3%

e & N2 642,782 701,042 58,260

< 48,600 48,600 0

= 594,182 652,442 A58, 260

MY e 2% 2 212,884 243,084 30,200

201 Let=Ehl 20,504 24,704 A4,200

01 AlR2telHl 20,504 24,704 A4,200
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FA OEEFA
g 28 =38 N2
el FRHY 2 X2 (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
Oy MRS Ho+E
70,0002 2013 1,400 5,600 A4,200
207 AATHE ] 184,000 210,000 A26,000
01 A2 EHI 184,000 210,000 A26,000
OfEds 2HRRe 28 89 0 20,000 20,000
OXg2ZUsoIi= A 8 89 44,000 50,000 26,000
Sal g2 29 21l 9,640 13,500 13,860
201 £er2aY| 740 3,700 22,960
03 A2 S HI 40 3,000 12,960
Osalz=LNEE =9 40 3,000 12,960
202 Ol 3,400 6,800 23,400
01 =W 0L 3,400 6,800 3,400
OAIFLINEE HiIXIorR
200,000 * 1712 3,400 6,800 3,400
308 &= 5,500 3,000 2,500
01 Za= 5,500 3,000 2,500
Q20248 MSAZZLNE RN 24 1,000 0 1,000
OsEIL A 22 FA 24 1,500 0 1,500
ey = 309,299 333,49 N24,200
301 LEtE NS 292,400 316,600 A24,200
14 IIEt2a= 292,400 316,600 A24,200
OdYANUE X 100,000 x538& 53,800 60,000 26,200
OZe=sdts N 218,000 236,000 18,000
— 134X k=2
3,000,0002 «66% 198,000 216,000 18,000
olat2dE = 277,636 282,807 25,171
SS0a X2 26,829 32,000 25,171
406 XHoHH St 9,829 15,000 25,171
01 A= F =8I 9,829 15,000 A5, 1T
O=S&el AteHF St 9,829 15,000 A5, 1T
FAEE AE 35,493 50,248 A14,755
ZFAt2el 26,393 41,148 A14,755
201 LetEaY| 9,220 24,220 A15,000
01 At 2|l 9,220 24,220 A15,000
OXetsr Se2Ad £X 0 13,000 A13,000
Odet=E SEZA Ul AIREE 7Y 0 2,000 22,000
301 LEtEN S 245 0 245
BOBHEd= 245 0 245
ORIMeL 242 as3 245 0 245
g22g A= 46,380 63,180 16,800
gl 42,800 59,600 16,800
201 LerEaY| 41,800 58,600 16,800
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SA: JEEFA
3 23 23 X&
el gRE2gE N (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
01 AlR2telHl 41,800 58,600 16,800
OAs ielgl deis
3,300,000& 82 26,400 39,600 A13,200
ONtSESA =€ 0 2,100 A2,100
O82s W& 1,000 2,500 A 1,500
o8 88 42,070 942,860 AT0
=8 J2EE 942,070 942,860 AT0
405 RhakF S| 9,110 9,900 AT
01 AL =S F = 9,110 9,900 AT0
Oo=zd s28 FHl 7
9,110,000 14 9,110 9,900 AT
A M 501,439 528,827 N27,388
= 6,856 14,550 NT,6%4
< 223,257 225,565 N2,308
= 271,326 288,712 A17,386
4 N 23 501,439 528,827 N27,388
= 6,856 14,550 NT,6%4
< 223,257 225,565 A2,308
z 271,326 288,712 A17,386
HHAS S 2EAY 42,667 54,667 A12,000
201 Let=Ehl 7,555 17,555 10,000
03 A2 I 0 10,000 10,000
OFHog A 0 10,000 10,000
301 LetEA=3 0 2,000 2,000
11 AN’ S 0 2,000 2,000
o4 2g3 & At FATEY 0 2,000 22,000
HHEN Al SEXNZAE 13,712 29,100 15,388
= 6,856 14,550 NT,6%4
< 2,057 4,365 N2,308
= 4,79 10,185 Ab,386
301 LetE2NS 13,712 29,100 ~15,388
= 6,856 14,550 NT,6%4
< 2,057 4,365 N2,308
= 4,79 10,185 5,386
1“2 8= 13,712 29,100 ~15,388
OFUHM StAl SEXIZAL
18,712,000& % 14] 13,712 29,100 ~15,388
= 6,856 14,550 NT,6%4
< 2,057 4,365 A2,308
= 4,79 10,185 5,386
ol 1,882,602 1,475,297 407,305
ollell 1,882,602 1,475,297 407,305
olleldl 1,076,295 1,425,297 349,002
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A J18XEA
M 0olidlg]
=2l olldlgl (CH9: &S1)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
801 OilHIHl 1,076,295 1,425,297 A349,002
01 Lerolblbl 313,154 513,154 A200,000
Oogeroldigl 313,14 513,154 200,000
02 THaH - THEH=SH o] 763, 141 912,143 149,002
O oIl 763, 141 912,143 149,002
UWERES 806,307 50,000 756,307
801 OiHIHI 806,307 50,000 756,307
03 URE=R=E=3 806,307 50,000 756,307
OURR=E=2 806,307 50,000 756,307
HY2IIHI(OIExEA) 68,882 71,202 N2,320
224l 68,882 71,202 12,320
Jl=&H| 68,882 71,202 12,320
202 04l 1,840 4,160 12,320
01 2ol 1,840 4,160 N2,320
OfA29g =2U0H|
20,0002 «23H x4 2 +13] 1,840 4,160 A2,320
NRESOI2Z=HA) 44,039 33,431 10,608
SBHEXE 44,039 33,431 10,608
SRS ES 44,039 33,431 10,608
802 Btet= DI Et 44,039 33,431 10,608
01 2 NBxIBHE= 26,724 5,000 21,724
O=2108x3eHe= 446 5,000 N4,554
02022 AN SHAl SEXJAAE 24| 0]
PRSI = 47 0 47
020238 HEBAM stAl EEXZAAMY =4I &
off By 26,020 0 26,020
02023 BEEA BAl SEEXJAAE =4| 0]
i ees 211 0 21
02 Al - SHIEZZEHES 17,315 28,431 A11,116
O&HlEx3ete=a 1,000 20,000 19,000
02022 HEEAN StAl EEXJAAE EH| 0]
PRSI = 14 0 14
02023 HEEA &Al SEXNAAY SHl &
of Bhef 7,806 0 7,806
02023 HEAEAN SHAl SEXJAAE | 0]
A gt = 64 0 64

- 126 -




